This article was downloaded by: On: 24 January 2011 Access details: Access Details: Free Access Publisher Taylor & Francis Informa Ltd Registered in England and Wales Registered Number: 1072954 Registered office: Mortimer House, 37-41 Mortimer Street, London W1T 3JH, UK



Journal of Liquid Chromatography & Related Technologies Publication details, including instructions for authors and subscription information:

Publication details, including instructions for authors and subscription information http://www.informaworld.com/smpp/title~content=t713597273

DIRECT LIQUID CHROMATOGRAPHIC ENANTIOMER SEPARATION OF N-tert-BUTOXYCARBONYL AND N-BENZYL-OXYCARBONYL α -AMINO ACIDS USING POLYSACCHARIDE DERIVED CHIRAL STATIONARY PHASES[1]

Byoung-Hyoun Kim^a; Wonjae Lee^a ^a LG Chemical Ltd., Science Town, Taejon, Republic of Korea

Online publication date: 25 February 1999

To cite this Article Kim, Byoung-Hyoun and Lee, Wonjae(1999) 'DIRECT LIQUID CHROMATOGRAPHIC ENANTIOMER SEPARATION OF N-tert-BUTOXYCARBONYL AND N-BENZYL-OXYCARBONYL α -AMINO ACIDS USING POLYSACCHARIDE DERIVED CHIRAL STATIONARY PHASES[1]', Journal of Liquid Chromatography & Related Technologies, 22: 4, 523 – 530

To link to this Article: DOI: 10.1081/JLC-100101677 URL: http://dx.doi.org/10.1081/JLC-100101677

PLEASE SCROLL DOWN FOR ARTICLE

Full terms and conditions of use: http://www.informaworld.com/terms-and-conditions-of-access.pdf

This article may be used for research, teaching and private study purposes. Any substantial or systematic reproduction, re-distribution, re-selling, loan or sub-licensing, systematic supply or distribution in any form to anyone is expressly forbidden.

The publisher does not give any warranty express or implied or make any representation that the contents will be complete or accurate or up to date. The accuracy of any instructions, formulae and drug doses should be independently verified with primary sources. The publisher shall not be liable for any loss, actions, claims, proceedings, demand or costs or damages whatsoever or howsoever caused arising directly or indirectly in connection with or arising out of the use of this material.

DIRECT LIQUID CHROMATOGRAPHIC ENANTIOMER SEPARATION OF N-tert-BUTOXYCARBONYL AND N-BENZYL-OXYCARBONYL α-AMINO ACIDS USING POLYSACCHARIDE DERIVED CHIRAL STATIONARY PHASES¹

Byoung-Hyoun Kim, Wonjae Lee*

LG Chemical Ltd. Research Park P. O. Box 61 Yu Sung Science Town Taejon 305-380, Republic of Korea

ABSTRACT

The direct enantioseparation of several N-protected t-BOC (tert-butoxycarbonyl) and CBZ (benzyloxycarbonyl) α -amino acids on polysaccharide derived chiral stationary phases (CSPs) is described. Good resolution of N-protected t-BOC and CBZ α -amino acids used in this study has been achieved. Chiralpak AD shows performance superior to other CSPs for the direct separation of the enantiomers of N-t-BOC as well as N-CBZ α -amino acids. The behavior of elution order and the effects of eluent composition for the resolution of N-t-BOC and N-CBZ α -amino acids have been investigated.

523

Copyright © 1999 by Marcel Dekker, Inc.

www.dekker.com

INTRODUCTION

Owing to the growing interest in peptide synthesis, N-protected α -amino acids are one of the most important building blocks in the fields of pharmaceutical chemistry and biochemistry. It is well known that t-BOC and CBZ groups are the most useful protecting moieties among a number of amino protecting groups for α -amino acids.² They are resistant to racemization in peptide synthesis and can be readily de-protected under mild acid hydrolysis and/or catalytic hydrogenolysis. Several studies concerning the enantiomeric resolution of these compounds have been reported using various techniques. The direct separation of the enantiomers of N-CBZ protected α -amino acids has been accomplished with a varying degree of success using ion-pair chromatography, ligand exchange method, and CSPs derived from acetylquinone, cellulose, and amino acid derivatives.³⁻⁹

For the direct separation of the enantiomers of N-t-BOC protected α -amino acids, however, only a few of results have been reported. The ion-pair chromatography using chiral mobile phase additives showed only one example to resolve N-t-BOC-phenylalanine.^{3,4} Although a hydroxypropyl derivatized β cyclodextrin bonded CSP exhibited good enantioselectivity ($\alpha = 1.13$ -1.69) for the direct resolution of the enantiomers of N-t-BOC α -amino acids, recently developed CSPs derived from amino acid urea derivatives afforded moderate enantioselectivity ($\alpha = 1.04$ -1.10) for these compounds.^{9,10}

In this paper, we wish to report the direct liquid chromatographic enantiomer separation of N-t-BOC as well as N-CBZ protected amino acids on several polysaccharide derived CSPs.

EXPERIMENTAL

Chromatographic analysis was performed at room temperature using an HPLC consisting of a Waters model 510 pump, a Rheodyne model 7125 injector with a 20µL loop, a variable wavelength UV detector Waters 490 set at 220nm and an Axxiom pyramid chromatography manager data system (pyramid-1 v.1.933, England). Signs of optical rotation were determined using a Shodex OR-1M (Showa Denko, Japan) as an inline chromatography detector. Chiralcel OD, OG, OF, OJ, OB, and Chiralpak AD columns (250mm L x 4.6mm I.D.) were purchased from Daicel Chemical Company (Tokyo, Japan). (Caution: only proper 2-propanol/hexane as a mobile phase should be used in Chiralcel OF.) HPLC-grade hexane and 2-propanol were obtained from J. T. Baker (Phillipsburg, NJ). Trifluoroacetic acid was obtained from Aldrich (Milwaukee, WI). The racemic (or enantiomerically pure) N-BOC and CBZ protected α -amino acids were prepared according to the conventional methods.¹¹

Table 1

CSP		Ala	Val	Leu	Ile	PG	Phe	Met
OD	α k'ı Rs retained*	1.00 1.57	1.36 0.87 2.31 D(-)	1.00 1.12	1.19 0.83 1.10 D(-)	1.19 2.13 1.47 L(+)	1.08 2.55 0.38 D(-)	1.00 2.21
OG	α k'ı Rs retained*	1.00 1.43	1.00 0.85	1.18 0.93 0.90 L(-)	1.06 0.79 0.22 L(+)	1.26 2.17 1.52 L(+)	1.09 1.95 0.47 L(+)	1.09 2.69 0.62 L(+)
OF	α k'ı Rs retained*	1.18 3.48 1.17 D(+)	1.37 1.77 2.04 D(-)	1.00 2.40	1.24 1.83 1.27 D(-)	1.53 7.32 3.02 L(+)	1.06 5.82 0.30 D(-)	1.04 7.36 0.30 D(-)
OJ	α k'ı Rs retained*	1.00 1.36	1.85 0.59 2.08 D(-)	1.36 0.52 1.07 D(+)	1.83 0.45 1.86 D(-)	1.65 3.41 2.54 D(-)	1.18 1.26 0.57 D(-)	1.08 2.03 0.42 D(-)
OB	α k'ı Rs retained*	1.12 0.62 0.40 D(+)	1.00 0.33	1.00 0.35	1.00 0.29	1.00 1.64	1.00 0.92	1.00 1.42
AD	α k' ₁ Rs retained*	1.79 4.55 5.10 L(-)	2.00 6.17 6.50 L(+)	2.41 5.40 7.67 L(-)	1.98 6.35 6.02 L(+)	1.57 9.77 5.98 L(+)	3.00 6.79 10.36 L(+)	2.51 8.53 10.46 L(+)

Direct Separation of the Enantiomers of N-t-BOC Protected α-Amino Acids

Mobile phase: 2-propanol/hexane=4/96 (V/V) with 0.1% trifluoroacetic acid; Flow rate=1.0 mL/min; UV 220nm; Temperature ambient (about 25°C); Injection volume 10 μ L of 10 mg/mL.

* Indicates absolute configuration and the sign of optical rotation of more strongly retained enantiomer.

Table 2

Direct Separation of the Enantiomers of N-CBZ Protected α -Amino Acids

CSP		Ala	Val	Leu	Ile	PG	Phe	Met
	α	3.04	6.23	2.63	7.16	1.94	1.04	1.81
OD	k'1	2.11	1.40	1.77	1.39	6.40	4.28	3.63
	Rs	8.71	14.12	6.34	14.40	6.87	0.15	5.75
	retained*	D(-)	D(-)	D(+)	D(-)	D(-)	L(+)	D(-)
		1 10	1.15	1.00	1.00	1.00	1.00	1.00
OG	ά	1.12	1.15	1.00	1.00	1.00	1.00	1.00
	K ₁	2.24	1.34	1.66	1.37	3.68	2.98	4.13
	KS	0.88	0.79 D()					
	retained*	D(-)	D(-)					
	α	1.53	1.54	1.25	1.40	1.30	1.26	1.18
OF	k'1	5 10	2.89	3 70	2.90	9.09	8 25	11.05
01	Rs	2.05	2.60	1 42	2.08	2.07	1.58	1 35
	retained*	D(-)	D(-)	D(+)	D(-)	D(-)	D(-)	D(-)
	retuined	D()	D()	D(1)	D()	D()	D()	D()
OJ	α	1.18	2.02	1.10	2.14	1.54	1.17	1.05
	k'1	3.92	1.70	1.80	1.20	8.03	4.34	6.97
	Rs	1.28	3.60	0.43	3.22	3.19	0.96	0.33
	retained*	D(-)	L(+)	L(-)	L(+)	L(+)	D(-)	L(+)
OB	α	1.87	1.00	1.00	1.00	1.53	1.13	1.00
	k'1	1.96	1.03	1.34	1.13	6.62	2.79	4.74
	Rs	1.79				0.83	0.25	
	retained*	(D-)				D(-)	D(-)	
	01	1.00	5 17	2 10	7 09	2.11	1.20	164
AD	ι.,	1.99	J.17 260	2.19	7.00	2.11	1.20	1.04
	K ₁	3.08	3.0ð	3.13	3.47 15.00	0.00	J.22	5.80
	KS	/.91 D()	17.81	8.70 D(1)	15.00 D()	9.78	1.98	6.70 D()
	retained*	D(-)	D(-)	D(+)	D(-)	D(-)	L(+)	D(-)

Mobile phase: 2-propanol/hexane=10/90 (V/V) with 0.1% trifluoroacetic acid; Flow rate=1.0 mL/min; UV 220nm; Temperature ambient (about 25° C); Injection volume 10µL of 10 mg/mL.

* Indicates absolute configuration and the sign of optical rotation of more strongly retained enantiomer.



Figure 1. Chromatograms of the direct enantiomer separation of N-t-BOC alanine, N-t-BOC value and N-CBZ alanine on Chiralpak AD and Chiralcel OF; Chromatographic conditions as in Tables 1 and 2.

RESULTS AND DISCUSSION

Table 1 shows chromatographic data for the direct separation of the enantiomers of several N-t-BOC protected α -amino acids. Chiralpak AD exhibits excellent resolving ability for all N-t-BOC protected α -amino acids used in this study, where separation factors range from 1.57 to 3.00. Chiralcel OJ and OF afford good enantioselectivity, whereas Chiralcel OB shows little enantioselectivity. Although the elution orders of the analytes on Chialpak AD and Chiralcel OG are inverted on Chiralcel OJ, consistent elution orders of the resolved analytes are observed on each of these three CSPs. Therefore, the elution of the (D)-isomers prior to the (L)-isomers on Chialpak AD and Chiralcel OG is observed, whereas the (D)-isomers are selectively retained on Chiralcel OJ.

Since the base-line enantioseparation of the examined analytes is generally provided on Chiralpak AD and Chiralcel OJ, the opposite of elution orders on Chialpak AD to those on Chiralcel OJ may provide the advantage for enantiomeric purity determination.¹² Table 2 shows chromatographic data for the direct separation of the enantiomers of several N-CBZ protected α -amino

Table 3

Effect of Mobile Phase Composition on the Enantioseparation of Some N-t-BOC and CBZ Protected α-Amino Acids on Chiralcel OF and Chiralpak AD

CSP	Analyte	Mobile Phase*	α	k' 1	k' ₂	Rs
		4%	1.18	3.48	4.11	1.17
	N-t-BOC Alanine	3%	1.21	4.96	5.98	1.25
		2%	1.23	9.27	11.41	1.64
	N-t-BOC Valine	4%	1.37	1.77	2.42	2.04
Chiralcel OF		3%	1.38	2.62	3.62	2.17
		2%	1.39	4.62	6.42	2.46
	N-CBZ Alanine	14%	1.50	2.76	4.14	1.70
		12%	1.52	3.71	5.64	1.78
		10%	1.53	5.10	7.81	2.05
	N-t-BOC Alanine	4%	1.79	4.55	8.14	5.10
		3%	1.82	5.82	10.59	5.43
		2%	1.87	8.93	16.70	5.93
	N-CBZ Alanine	14%	1.94	1.79	3.47	7.11
Chiralpak AD		12%	1.96	2.25	4.41	7.40
1		10%	1.99	3.08	6.13	7.91
	N-CBZ Valine	14%	5.02	2.30	11.55	17.01
		12%	5.08	2.87	14.58	17.18
		10%	5.17	3.68	19.03	17.81

Flow rate = 1.0mL/min; UV 220nm; Temperature ambient (about 25°C).

* Indicates percent of 2-propanol in hexane (V/V) with 0.1% trifluoroacetic acid as the mobile phase.

acids. The degree of enantioselectivity of N-CBZ α -amino acids on Chiralpak AD is comparable to that on Chiralcel OD.⁷ Although Chiralcel OF and OJ show lower enantioselectivity than Chiralpak AD and Chiralcel OD, they afford the base-line resolution for most of the analytes in this study. The elution orders of all analytes studied on Chiralpak AD are identical to those on Chiralcel OD, where the L-isomers elute first except for N-CBZ phenylalanine.

It is noteworthy that Chiralpak AD shows performance superior to that of other CSPs used in our study for the direct separation of the enantiomers of N-t-BOC as well as N-CBZ α -amino acids. In addition, it is observed that Chiralcel OF and OJ afford good enantioselectivity for the direct resolution of both N-t-BOC and CBZ α -amino acids. However, Chiralcel OD affords excellent resolution of N-CBZ α -amino acids and worse resolution of N-t-BOC α -amino acids.

Typical chromatograms of N-t-BOC and CBZ protected α -amino acids on Chiralpak AD and Chiralcel OF are presented in Figure 1. The effects of mobile phase composition on the retention and the separation factor are investigated. As shown in Table 3, mobile phase compositions are varied from 2% to 4% of 2-propanol in hexane for N-t-BOC protected analytes and from 10% to 14% of 2-propanol in hexane for N-CBZ protected analytes on Chiralcel OF and Chiralpak AD. As the composition of 2-propanol in hexane decreases, the enantiomeric resolution increases with increased capacity factors.

In conclusion, we presented the direct liquid chromatographic separation of enantiomers of α -amino acids as N-protected t-BOC and CBZ derivatives, the most commonly used amino protecting groups for α -amino acids. The direct resolution of the enantiomers of N-BOC protected α -amino acids was for the first time accomplished on polysaccharide derived CSPs. Among all CSPs studied, Chiralpak AD showed excellent resolving ability for the enantiomers of N-BOC as well as N-CBZ protected amino acids.

REFERENCES

- 1. This work was presented at the 9th International Symposium on Chiral Discrimination, Nagoya, October 27-30, 1997.
- T. W. Greene, P. G. M. Wuts, Protective Groups in Organic Synthesis, 2nd Edition, John Wiley & Sons. Inc., New York, 1991.
- 3. C. Petterson, K. No, J. Chromatogr., 282, 671-684 (1983).
- 4. C. Petterson, J. Chromatogr., **316**, 553-567 (1984).
- Y. Yuki, K. Saigo, H. Kimoto, K. Tachibana, M. Hasegawa, J. Chromatogr., 400, 65-75 (1987).
- 6. C. Petterson, C. Gioeli, J. Chromatogr., 398, 247-254 (1987).

- 7. Y. Okamoto, R. Aburatani, Y. Kaida, K. Hatada, Chem. Lett., 1125-1128 (1988).
- 8. A. Ishikawa, T. Shibata, J. Liq. Chromatogr., 16, 859-878 (1993).
- 9. H. Oi, H. Kitahara, F. Aoki, N. Kisu, J. Chromatogr. A, 689, 195-201 (1995).
- 10. S. C. Chang, L. R. Wang, D. W. Armstrong, J. Liq. Chromatogr., **15**, 1411-1429 (1992).
- 11. M. Bodanszky, A. Bodanszky, **The Practice of Peptide Synthesis**, Springer-Verlag, New York, 1984.
- 12. J. A. Perry, J. D. Rateike, T. J. Szczerba, J. Chromatogr., 389, 57-64 (1987).

Received January 13, 1998 Accepted May 30, 1998 Manuscript 4719

Request Permission or Order Reprints Instantly!

Interested in copying and sharing this article? In most cases, U.S. Copyright Law requires that you get permission from the article's rightsholder before using copyrighted content.

All information and materials found in this article, including but not limited to text, trademarks, patents, logos, graphics and images (the "Materials"), are the copyrighted works and other forms of intellectual property of Marcel Dekker, Inc., or its licensors. All rights not expressly granted are reserved.

Get permission to lawfully reproduce and distribute the Materials or order reprints quickly and painlessly. Simply click on the "Request Permission/Reprints Here" link below and follow the instructions. Visit the <u>U.S. Copyright Office</u> for information on Fair Use limitations of U.S. copyright law. Please refer to The Association of American Publishers' (AAP) website for guidelines on <u>Fair Use in the Classroom</u>.

The Materials are for your personal use only and cannot be reformatted, reposted, resold or distributed by electronic means or otherwise without permission from Marcel Dekker, Inc. Marcel Dekker, Inc. grants you the limited right to display the Materials only on your personal computer or personal wireless device, and to copy and download single copies of such Materials provided that any copyright, trademark or other notice appearing on such Materials is also retained by, displayed, copied or downloaded as part of the Materials and is not removed or obscured, and provided you do not edit, modify, alter or enhance the Materials. Please refer to our <u>Website</u> <u>User Agreement</u> for more details.

Order now!

Reprints of this article can also be ordered at http://www.dekker.com/servlet/product/DOI/101081JLC100101677